【解答 --- 參考 G. L. Miessler and D. A. Tarr “Inorganic Chemistry” 3e】
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(1) P2s = 0 ( r = 2 a / Z
(2) P2s = max ( P2s’ = 
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(3) P2p = max ( P2p’ = 
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(4) E2 = -2.179×10-18 Z2 / 4，E1 = -2.179×10-18 Z2 / 1，

ΔE = E1－E2 = -2.179×10-18 Z2  × 3/4 ( ε= hν ( 
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(5) E∞ = 0，ΔE = E∞－E2 = -2.179×10-18 Z2  /4 【H 原子：Z = 1】

所以是 H 原子所需能量的 Z2 倍

(6) <r>2s = 
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(7) <r>2p = 
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	Z
	r0_2s (pm)
	rmax_2s (pm)
	rmax_2p (pm)
	f_2s,2p>1s (Hz)
	IE (IEH)
	<r>2s (pm)
	<r>2p (pm)

	Li
	3
	35.27
	92.33
	70.53
	2.220E+16
	9
	1329.52
	1107.93

	Be
	4
	26.45
	69.25
	52.90
	3.946E+16
	16
	997.14
	830.95

	B
	5
	21.16
	55.40
	42.32
	6.166E+16
	25
	797.71
	664.76

	C
	6
	17.63
	46.16
	35.27
	8.879E+16
	36
	664.76
	553.97

	N
	7
	15.11
	39.57
	30.23
	1.209E+17
	49
	569.79
	474.83

	O
	8
	13.23
	34.62
	26.45
	1.579E+17
	64
	498.57
	415.48

	F
	9
	11.76
	30.78
	23.51
	1.998E+17
	81
	443.17
	369.31

	Ne
	10
	10.58
	27.70
	21.16
	2.466E+17
	100
	398.86
	332.38
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